ITEM NO.	DESCRIPTION	EST QUANTITY	UNIT	UNIT PRICE	AMOUNT BID (EXT TOTAL)
53	PED DETECTOR – F&I – STANDARD	6	EA	\$ 698.00	\$ 4,188.00
54	54 PED DETECTOR – REMOVE 1 EA				
55 SIGN PANEL – F&I OVERHEAD MOUNT			AS	\$ 695.00	\$ 2,780.00
NW 16 <sup>th</sup> Avenue and NW 2 <sup>nd</sup> Street Signal SUB TOTAL AMOUNT \$\$ 18					8,863.00
TOTAL BID AMOUNT NW 16 <sup>th</sup> Ave. Resurfacing + NW 16 <sup>TH</sup> Ave. and NW 2 <sup>nd</sup> Street Signal				\$\$ 1,32	20,713.27

NOTE: This bid is a unit price bid based on estimated quantities. Final payment shall be based upon actual field measurement of quantities. **List of Unit Abbreviations:** SY Square Yards GL Gallons SD Side Drain LS Lump Sum MG Thousand Gallons ED Each Day CY Cubic Yards GM Gross Miles CD Cross Drain EA Each LF Linear Feet AC Acre TN Tons NM Net Miles RCP Reinforced Concrete Pipe HR Hour PI Per Intersection AS Assembly John W. Taylor Preferred Materials, Inc. Bidder: Company: 11482 Columbia Park Drive W, Ste 3 Address: Jacksonville, FL 32258 Vice President Authorized Signature: Title: Vice President John W. Taylor Clearly Print Signature: Title: <sub>DATE:</sub> 7/31/2019 904-288-6301 904-288-6300 FAX: PHONE: John.Taylor@preferredmaterials.com Email Address:

**SECTION G** 

**EXHIBIT A** 

#### **BID FORM**

Bid 19-907: NW 16th Ave Milling and Resurfacing & NW 16th Ave @ NW 2nd Street Signal - Project No. 917-7902

Date: 7/31/2019

Board of County Commissioners Alachua County, Florida Gainesville, Florida

Dear Commissioners:

The undersigned, as Bidder, hereby declares that he has examined the site of the Work and informed himself fully in regard to all conditions pertaining to the place where the Work is to be done, and that he has examined the plans and Specifications for the Work and comments hereto attached. The Bidder further declares that the only persons, company or parties interested in this Bid or the contract to be entered into, as principals, are named herein; that this Bid is made without connection with any other person, company or parties making a Bid; and it is in all respects fair and in good faith and without collusion or fraud.

The Bidder proposes and agrees, if this Bid is accepted, to contract with Alachua County, Florida, through the Board of County Commissioners, Gainesville, Florida, in the form of contract specified, to furnish all necessary materials, equipment, machinery, tools, apparatus, means of transportation, labor and service necessary to complete the work covered by the Bid and Contract Documents for: <u>Bid 19-907: NW 16th Ave Milling and Resurfacing & NW 16th Ave @ NW 2nd Street Signal - Project No. 917-7902</u> to furnish the prescribed Performance and Payment Bond for not less than one percent (100%) of the bid price; and to furnish the required evidence of the specified insurance.

The undersigned further agrees that in case of failure on his part to execute said contract within thirty (30) consecutive calendar days after written notice being given of award of contract, the certified or cashier's check or bid bond accompanying this bid, and money payable thereon, shall be paid into funds of the Alachua County Board of County Commissioners, Gainesville, Florida, as liquidated damages for such failure; otherwise, the check or bid bond accompanying this proposal shall be returned to the undersigned.

The undersigned agrees to commence work as set forth in the Notice to Proceed and substantial completion in the number of working days submitted herein and with final completion within 45 calendar days thereafter. If the Contractor fails to complete the work within the specified time, the Contractor agrees to pay the County \$1,665.00 per calendar day as liquidated damages for substantial completion and \$833.00 per calendar day as liquidated damages for final completion.

Attached is a list of similar projects and a list of Subcontractors as covered in the Instructions to Bidders.

The Bidder agrees to accept in full compensation for each item the prices named in the schedule incorporated herein and attached as "Bid Schedule". The Bidder understands that the quantities shown on the "Bid Schedule" are approximate only and subject to increase or decrease. Should they be increased or decreased, work will be performed at the unit price bid herein. Actual quantities will be determined upon completion of the work.

Bid 19-907: NW 16th Ave Milling an	Bid Form Cont'd d Resurfacing & NW 16th Ave @ NW 2nd Street Signal - Project No. 917-7902
Preferred Materials, Inc.	BIDDER
Attest:  Sylvia . Rocek - Asst. Secretary Title	John W. Taylor - Vice President Title
11482 Columbia Park Dr W, Ste 3., Address	Jacksonville, FL 32258
ADDENDA	
hereby made part of the Contract Do from said Addenda	at he has received Addenda Number(s):,,,,

Taylor - Vice President

John W. Title

Sylvia J. Rocek- Asst Secretary
Title

#### **EXHIBIT A**

#### ADDENDUM 1 BID SCHEDULE

#### Bid 19-907: Project No. 917-7902- NW 16th Ave Mill and Resurface

ITEM NO.	DESCRIPTION	EST QUANTITY	UNIT	UNIT PRICE	AMOUNT BID (EXT TOTAL)
1	MOBILIZATION	1	LS	\$ 100,000.00	\$ 100,000.00
2	MAINTENANCE OF TRAFFIC	1	LS	\$ 155,620.73	\$ 155,620.73
3	PREVENTION, CONTROL & ABATEMENT OF EROSION & WATER POLLUTION	1	LS	\$ 20,000.00	\$ 20,000.00
4	INLET PROTECTION DEVICE	34	EA	\$ 315.18	\$ 10,716.12
5	CLEARING & GRUBBING	1	LS	\$ 60,000.00	\$ 60,000.00
6	MOWING	2	AC	\$ 863.31	\$ 1,726.62
7	GRADING	1	LS	\$ 7,262.00	\$ 7,262.00
8	BORROW	50	CY	\$ 41.91	\$ 2,095.00
8	MILLING EXISTING ASPHALT PAVEMENT, 2.5"	19200	SY	\$ 4.20	\$ 80,640.00
9	SUPERPAVE ASPHALTIC CONCRETE, SP-12.5, TRAFFIC B	1350	TN	\$ 175.70	\$ 237,262.50
10	ASPHALTIC CONCRETE FRICTION COURSE	1350	TN	\$ 164.99	\$ 222,736.50
11	INLETS, CURB, TYPE P-3, PARTIAL	3	EA	\$ 8,500.00	\$ 25,500.00
12	MANHOLES & INLETS CLEANING & SEALING, <10'	3	EA	\$ 3,500.00	\$ 10,500.00
13	CURB AND GUTTER, TYPE F	1300	LF	\$ 47.00	\$ 61,100.00
14	CONCRETE SIDEWALK, 4"	600	SY	\$ 72.00	\$ 43,200.00
15	CONCRETE SIDEWALK, 6"	300	SY	\$ 104.00	\$ 31,200.00
16	DETECTABLE WARNING SURFACE	312	SF	\$ 71.15	\$ 22,198.80

Page 4

ITEM NO.	DESCRIPTION	EST QUANTITY	UNIT	UNIT PRICE	AMOUNT BID (EXT TOTAL)
17	SOD OR HYDROSEED	720	SY	\$ 4.95	\$ 3,564.00
18	SINGLE POST SIGN, INSTALL	13	AS	\$ 300.00	\$ 3,900.00
19	SINGLE POST SIGN, REMOVE	2	AS	\$ 25.00	\$ 50.00
20	TRAFFIC STRIPE, PAINT, STD, WHITE, SOLID, 6"	8,700	LF	\$ 0.30	\$ 2,610.00
21	TRAFFIC STRIPE, PAINT, STD, YELLOW, SOLID, 6"	7,700	LF	\$ 0.30	\$ 2,310.00
22	TRAFFIC STRIPE, PAINT, STD, YELLOW, 10-30 SKIP, 6"	0.25	GM	\$ 3,500.00	\$ 875.00
23	TRAFFIC STRIPE, PAINT, STD, WHITE, SOLID, 12"	900	LF	\$ 1.15	\$ 1,035.00
24	TRAFFIC STRIPE, PAINT, STD, WHITE, SOLID, 24"	150	LF ·	\$ 2.75	\$ 412.50
25	TRAFFIC STRIPE, PAINT, STD, WHITE, 2-4 DOTTED/6-10 GAP EXTENSION, 6"	0.01	GM	\$ 5,000.00	\$ 50.00
26	TRAFFIC STRIPE, PAINT, STD, WHITE, ARROWS	42	EA	\$ 55.00	\$ 2,310.00
27	THERMOPLASTIC, STD, WHITE, SOLID, 6"	8,700	LF	\$ 0.80	\$ 6,960.00
28	THERMOPLASTIC, STD, YELLOW, SOLID, 6"	7,700	GM	\$ 0.80	\$ 6,160.00
29	THERMOPLASTIC, STD, YELLOW, 10-30 SKIP, 6"	0.25	GM	\$ 1,600.00	\$ 400.00
30	THERMOPLASTIC, STD, WHITE, SOLID, 12"	900	LF	\$ 3.30	\$ 2,970.00
31	THERMOPLASTIC, STD, WHITE, SOLID, 24"	150	LF	\$ 12.00	\$ 1,800.00
32	THERMOPLASTIC, STD, WHITE, 2-4 DOTTED/6-10 GAP EXTENSION, 6"	0.01	GM	\$ 6,500.00	\$ 65.00
33	THERMOPLASTIC, STD, WHITE, ARROWS	42	EA	\$ 110.00	\$ 4,620.00
	NW 16 <sup>th</sup> Avenue Resurfacing	\$\$ 1,13°	1,850.27		

Page 5

ITEM NO.	DESCRIPTION	EST QUANTITY	UNIT	UNIT PRICE	AMOUNT BID (EXT TOTAL)
34	MOBILIZATION	1	LS	\$ 20,000.00	\$ 20,000.00
35	MAINTENANCE OF TRAFFIC	1	LS	\$ 50,000.00	\$ 50,000.00
36	PREVENTION, CONTROL & ABATEMENT OF EROSION & WATER POLLUTION	1	LS	\$ 5,000.00	\$ 5,000.00
37	CLEARING & GRUBBING	1	LS	\$ 5,000.00	\$ 5,000.00
38	CONDUIT – INSTALL NEW	100	LF	\$ 15.00	\$ 1,500.00
39	SIGNAL CABLE- NEW OR RECONSTRUCTED INTERSECTION	1	PI	\$ 4,196.00	\$ 4,196.00
40	SPAN WIRE	1	PI	\$ 3,196.00	\$ 3,196.00
41	FIBERGLASS INSULATION	60	LF	\$ 26.00	\$ 1,560.00
42	PULL BOXES	9	EA	\$ 795.00	\$ 7,155.00
43	STRAIN POLE – FURNISH AND INSTALL	4	EA	\$ 10,986.00	\$ 43,944.00
44	STRAIN POLE – SHALLOW DEPTH REMOVAL	2	EA	\$ 3,250.00	\$ 6,500.00
45	ALUMINUM PEDASTAL POLE	4	EA	\$ 1,350.00	\$ 5,400.00
46	ALUMINIUM PEDASTAL POLE – PED DETECTOR POST	1	EA	\$ 1,242.00	\$ 1,242.00
47	VEH TRAFFIC SIGNAL - ALUMINIUM	8	AS	\$ 985.00	\$ 7,880.00
48	PED SIGNAL – F&I LED COUNTDOWN 1-WAY	4	AS	\$ 595.00	\$ 2,380.00
49	PED SIGNAL – F&I LED COUNTDOWN 2-WAY	1	AS	\$ 1,230.00	\$ 1,230.00
50	PED SIGNAL, REMOVE – POLE/PEDESTAL TO REMAIN	2	EA	\$ 25.00	\$ 50.00
51	VEHICLE DETECTION SYSTEM, VIDEO, F&I, CABINET EQUIP	1	EA	\$ 7,984.00	\$ 7,984.00
52	VEHICLE DETECTION SYSTEM, VIDEO, F&I, ABOVE GROUND EQUIP.	1	AS	\$ 7,658.00	\$ 7,658.00

## ATTENTION:

VENDOR SHOULD COMPLETE AND SIGN EXHIBIT B TO BE CONSIDERED RESPONSIVE

#### Small Business Enterprise (SBE) Program Participation Form

BID NUMBER: Bid 19-907: NW 16th Ave Milling and Resurfacing & NW 16th Ave @ NW 2nd Street Signal - Project No. 917-7902

## **OPTION 1**

I certify that our Company is an Alachua County Certified Small Business Enterprise (SBE) registered prior to the Bid opening.

Circle One:

Yes (If yes, complete and sign the last page of this Exhibit)

No (If No, proceed to Option 2.)

## **OPTION 2**

I certify that our Company will perform ALL work and that no subcontractors will be utilized for this bid.

Circle One:

Yes (If yes, complete and sign the last page of this Exhibit)

No (If No, proceed to Option 3.)

#### No. 917-7902

## **OPTION 3**

**SBE Participation**. I certify that our Company has contacted the **Alachua County's Certified SBEs** listed below. I state that the following information regarding SBE Subcontractors is true and correct to the best of my knowledge and belief.

Alachua County has adopted a 15% SBE participation goal and policies which encourage participation of Small Business Enterprises (SBE) in the provision of labor, time, supplies, services or construction items of any kind materials.

SBEs are located in the Alachua County Small Business Enterprise Directory, available at: <a href="http://smallbusdir.alachuacounty.us/">http://smallbusdir.alachuacounty.us/</a>.

Subcontractor (any business entity holding a subcontract with the prime vendor) services are defined as, "a contract with another business entity that obtains labor, time, supplies, services or construction items of any kind."

Vendors submitting bids under this solicitation are to identify the intended SBE subcontractors. These SBEs have agreed to perform the work for the total dollar value and percentage of the bid set forth below.

If SBE subcontractors are not utilized and listed below or if option 1 or 2 was not chosen, you must proceed to Option 4 and document your Good Faith Effort.

must proceed to opiton i	mare movement jour			- Control of the Cont	
Jenkins Painting , LLC			Cornerstone Barricade	<u> </u>	
SBE Name of Contractor 5551 NW 60th St Chiefland , FL	_ 32626		SBE Name of Contractor 3201 SW 42nd st , Ste 5 Gainesville, FL 32608		
Address Striping			Address MOT		
Scope of Work to be Performed			Scope of Work to be Perfor	med	
\$ 54,577.50	4.1 %		\$	0.5	
(Est \$ Value)	(Est % of Total Bid)		(Est \$ Value)	(Est % of Total Bid)	
			SBE Name of Contractor		
SBE Name of Contractor			SBE Name of Contractor		
Address			Address		
Scope of Work to be Performed			Scope of Work to be Perform	rmed	
\$	%		\$	%	
\$ (Est \$ Value)	(Est % of Total Bid)		(Est \$ Value)	(Est % of Total Bid)	
				,	
SBE Name of Contractor			SBE Name of Contractor		
		1,4%			
Address			Address	,	
Scope of Work to be Performed			Scope of Work to be Perfo	rmed	
\$(Est \$ Value)	(Est % of Total Bid)		\$(Est \$ Value)	(Est % of Total Bid)	
I		1.74			

## BID NUMBER: Bid 19-907: NW 16th Ave Milling and Resurfacing & NW 16th Ave @ NW 2nd Street Signal - Project No. 917-7902

## **OPTION 4**

SBE Good Faith Effort. To be considered responsive all Vendors should have SBE Participation or demonstrate a good faith effort to utilize SBE subcontractors. If option 1, 2 or 3 was not chosen the Vendor should complete the section below substantiating compliance with good faith effort requirements.

In accordance with Section 22.36, of the Alachua County Purchasing Code, I have solicited and received responses from the following Alachua County certified SBE companies. (The SBE vendor's response MUST be recorded in the section below.)

1 Name of SBE Company: PLEASE SEE ATTACHED		Date SBE Contacted
SBE Contact Name:	Phone:	. / /
Must be completed by. SBE Response when contacted:		
2 Name of SBE Company:		Date SBE Contacted
SBE Contact Name:	Phone:	1 1
Must be completed by. SBE Response when contacted:		
3 Name of SBE Company:		Date SBE Contacted
SBE Contact Name:	Phone:	. / /
Must be completed by. SBE Response when contacted:		
4 Name of SBE Company:	- 1 Ustra 2 Stock (MATE)	Date SBE Contacted
SBE Contact Name:	Phone:	1 1
Must be completed by. SBE Response when contacted:		
5 Name of SBE Company:		Date SBE Contacted
SBE Contact Name:	Phone:	. 1 1
Must be completed by. SBE Response when contacted:		
6 Name of SBE Company:		Date SBE Contacted
SBE Contact Name:	Phone:	1 1
Must be completed by. SBE Response when contacted:		
7 Name of SBE Company:		Date SBE Contacted
SBE Contact Name:	Phone:	1 1
Must be completed by. SBE Response when contacted:		

					Dat	Date Contacted	ted	
Name of SBE	Address	Contact	Phone	Email	email	letter	called	Response
ALL SOUTH CONSTRUCTION, LLC	18995 NW 218TH AVENUE, HIGH SPRINGS, FL 32655	ELIZABETH ASHLEY LEWIS	(352) 318-4933	ashley@allsouth.cc	7/2/2019	7/9/2019	7/30/2019	Left Message/ 7/30/2019 No Response
ANGLIN CONSTRUCTION COMPANY	102 NE 10TH AVENUE SUITE 5, GAINESVILLE, FL 32601	GARY ANGLIN	(352) 376-4089	gary@anglin.cfcoxmail.com	7/2/2019	7/9/2019	7/30/2019	Left Message/ No Response
B. H. BUILDERS, INC.	414 SW 140TH TERRACE, SUITE 110, NEWBERRY, FL 32669	RODNEY HYDEN	(352) 333-7716	<u>rodney@bhbldrs.com</u>	7/2/2019	7/9/2019		Left Message/ 7/30/2019 No Response
BBI CONSTRUCTION MANAGEMENT, INC.	4639 NW 53rd Street, Gainesville, Fl 32653	JOE BURNS	(352) 338-2073	joe@bbi-cm.com	7/2/2019	7/9/2019	7/30/2019	7/30/2019 Not Quoting
CCI CABOT CONSTRUCTION, INC.	5201 SW 13TH STREET, GAINESVILLE, FL 32608	YОТНІ ЈОЅЕРН	(352) 331-3720	jjoseph@cabotconstructioninc.com	7/2/2019	7/9/2019	7/30/2019	7/30/2019 Not Quoting
CHRIS TORRENCE ELECTRIC & UTILITY LLC	954 NW 244TH DR, NEWBERRY, CHRIS TORRENCE OR FL 32669 SHEILA PLANK	CHRIS TORRENCE OR SHEILA PLANK	(352) 727-0267	<u>sheila@ctelectricutility.com</u>	7/2/2019	7/9/2019	7/30/2019	Not Quoting
CORNERSTONE BARRICADES, INC.	3201 SW 42ND STREET SUITE #5, GAINESVILLE, FL 32608	SEYI FALADE	(352) 373-8001	seyi.falade@cornerstonebarricades.com	7/2/2019	7/9/2019	7/30/2019	7/30/2019 Sent Quote
EARTHWORK SOLUTIONS CONSTRUCTION COMPANY, LLC	24304 NW 182ND AVENUE, HIGH SPRINGS, FL 32643	ELIZABETH LEWIS	(352) 318-4933	ashley@earthworksolutions.cc_	7/2/2019	7/9/2019		Left Message/ 7/30/2019 No Response
HOFFMAN CONSTRUCTION, INC.	635 SW 186 STREET, NEWBERRY, FL 32669	JOSEPH HOFFMAN	(352) 494-0229	hoffmanconst@yahoo.com	7/2/2019	7/9/2019	7/30/2019	Left Message/ 7/30/2019 No Response
JENKINS PAINTING, INC.	5551 NW 60TH STREET, CHIEFLAND, FL 32626	DEWAYNE JENKINS	(352) 493-4021	painters@svic.net_	7/2/2019	7/9/2019	7/30/2019	7/30/2019 Sent Quote
NATURAL ELEMENTS PAINTING & REPAIR, LLC	2510 NW 90TH TERRACE, GAINESVILLE, FL 32606	JOHN MALANCHUK	(352) 514-0005	john@naturalelementspainting.com	7/2/2019	7/9/2019	7/30/2019	7/30/2019 Not Quoting
SHINE AND COMPANY, INC.	25687 W US HWY 27, HIGH SPRINGS, FL 32643	GARY SHINE	(386) 454-2034	gary.shine@shinecompanyinc.com	7/2/2019	7/9/2019	7/30/2019	Left Message/ 7/30/2019 No Response
SNG PAVEMENT MARKING, INC.	1104 NW SOTH AVENUE #A, GAINESVILLE, FL 32609	LAWRENCE STOPPELLI	(352) 378-2636	sngpavement1@aol.com	7/2/2019	7/9/2019	7/30/2019	7/30/2019 Sent Quote
TCB SERVICES LLC	11360 SE COUNTY ROAD 319, TRENTON, FL 32693	CAROL MCCLELLAN	(352) 463-0788	carol@tcbservicesllc.com	7/2/2019	7/9/2019	1	Left Message/ 7/30/2019 No Response
TOM JENKINS ELECTRICAL SERVICE, INC.	8153 SW COUNTY ROAD 796, LAKE BUTLER, FL 32054	THOMAS B. JENKINS, JR.	(386) 496-8287	<u>tje@windstream.net</u>	7/2/2019	7/9/2019	7/30/2019	7/2/2019 7/9/2019 7/30/2019 No Response

BID NUMBER: <u>Bid 19-907: NW 16th Ave Milling and Resurfacing & NW 16th Ave @ NW 2nd Street Signal - Project No. 917-7902</u>

I as the undersigned Vendor certify that I have completed one of the option(s) below (Circle One):

	e to certify that, you have completed to the best of your k TION 3 or OPTION 4, Call (48 hours prior to bid ope	nowledge and	
Vendor Name:	Preferred Materials, Inc.	Date	7/31/2019
Signature	AND .	Title	Vice President
Printed Name:	John W. Taylor	Title	Vice President

#### Proposed Subcontractors (Non-Small Business Enterprise) Form

## BID NUMBER: Bid 19-907: NW 16th Ave Milling and Resurfacing & NW 16th Ave @ NW 2nd Street Signal - Project No. 917-7902

This form is for all Non-Small Business Enterprise subcotractors being utilized on this project that are not included on Exbihit B.

CDM Contracting, Inc.	James D. Hinson Electrical Contracting
Name of Contractor	Name of Contractor
10022 NW 129th Ave, Lake Butler , FL 32054	11609 Columbia Park Drive W, Jax, FL 32258
Address Concrete	Address Electrical
Scope of Work to be Performed	Scope of Work to be Performed
\$ 284,970.80 21.5 %	\$ 118,735.00 9 %
(Total \$ Value) (% of Total Bid/RFP)	(Total \$ Value) (% of Total Bid/RFP)
Smith & Sons Sod	Traffic Control Products of Florida
Name of Contractor	Name of Contractor
4661 W State Road 238 Lake Butler, FL	5639 Witten Road Jacksonville, FL 32254
Address Sod	Address Signs
Scope of Work to be Performed	Scope of Work to be Performed
4,066.00 0.3 <sub>%</sub>	\$ 5,000.00
(Total \$ Value) (% of Total Bid/RFP)	(Total \$ Value) (% of Total Bid/RFP)
Name of Contractor	Name of Contractor
Address	Address
Scope of Work to be Performed	Scope of Work to be Performed
\ <b>\$</b>	\$%
(Total \$ Value) (% of Total Bid/RFP)	(Total \$ Value) (% of Total Bid/RFP)
Name of Contractor	Name of Contractor
Address	Address
Scope of Work to be Performed	Scope of Work to be Performed
\$	% %
(Total \$ Value) (% of Total Bid/RFP)	(Total \$ Value) (% of Total Bid/RFP)

#### ALACHUA COUNTY GOVERNMENT MINIMUM WAGE (GMW) FORM

Bid 19-907: NW 16th Ave Milling and Resurfacing & NW 16th Ave @ NW 2nd Street Signal - Project No. 917-7902
The undersigned certifies that all employees, contracted and subcontracted, completing services as part of this Bid/RFP are paid, and

will continue to be paid, in accordance with Chapter 22, Article III of the Alachua County Code of Ordinance ("Wage Ordinance").

Please mark the appropriate box below that applies to how you pay your employees:

1.	Employees involved with Alachua County projects are paid a	n minimum of S	§13.50 hou	rly and are provided health benefits?
2.	Employees involved with Alachua County projects are pai benefits?	id a minimum	of \$15.60	hourly but are not provided health
Bido	John W. Taylor der:	Company:	Preferred	d Materials, inc.
Autl	horized Signature:		_ Title:	Vice President
Clea	arly Print Name:		_ Phone:	904-288-6300
Ema	John.Taylor@preferredmaterials.com			

#### DRUG FREE WORKPLACE

Section 22.09 Competitive Sealed Bidding of the Alachua County Purchasing Code states that in the evaluation of bids, all factors in the bidding process being equal, both as to dollar amount and ability to perform, priority will be given, first, to those vendors certifying a drug-free workplace, secondly, to certified Small Business Enterprise (SBE) bidders.

The undersigned vendor in accordance with Florida Statute 287.087 and Section 22.09 of the Alachua County Purchasing Code hereby certifies that

Preferred Materials, Inc.	
Name of Business	

#### does:

- 1. Publish a statement notifying employees that the unlawful manufacture, distribution, dispensing, possession, or use of a controlled substance is prohibited in the workplace and specifying the actions that will be taken against employees for violations of such prohibition.
- 2. Inform employees about the dangers of drug abuse in the workplace, the business's policy of maintaining a drug-free workplace, any available drug counseling, rehabilitation, and employee assistance programs, and the penalties that may be imposed upon employees for drug abuse violations.
- 3. Give each employee engaged in providing the commodities or contractual services that are under bid a copy of the statement specified in subsection (1).
- 4. In the statement specified in subsection (1), notify the employees that, as a condition of working on the commodities or contractual services that are under bid, the employee will abide by the terms of the statement and will notify the employer of any conviction of, or plea of guilty or nolo contendere to, any violation of Chapter 1893 or of any controlled substance law of the United States or any state, for a violation occurring in the workplace no later than five (5) days after such conviction.
- 5. Impose a sanction on, or require the satisfactory participation in a drug abuse assistance or rehabilitation program if such is available in the employee's community, by any employee who is so convicted.
- 6. Make a good faith effort to continue to maintain a drug-free workplace through implementation of this section.

As the person authorized to sign the statement, I certify that this firm complies fully with the above requirements.

Bidder's Signature John W. Taylor - Vice President 7/31/2019

Date

#### **BIDDER'S QUESTIONNAIRE**

Bidder's	Name:	Preferred Materia	ls, Inc.					
•			a Park Drive W, Ste 3, Jax, FL 32258 Phone: 904-288-6300					
Number of years in this type of service?			100 + Number of years licensed in Alachua County: 15					
Number	Number of employees "ON THE JOB" each week: 80 Number of employees "ON CALL" each week:							
Are you	FDOT Prequalified for	r this work? Yes	X No	If s	o, MyFlor	ida MarketPlace	Number:	F581401468 026
•	u subcontract any part o		Yes	<u>X</u> N	о	If so, give de	tails:	
MOT, S	Striping, Electrical, cle	earing & grubbing						
	Auman							
List all	major equipment which	n will be available up				ent to perform th	e required so	ervice:
Pavers,	Rollers, Shuttle Bugg	gy, Tack Truck						
•	currently hold any mur	nicipality contracts:		Yes X	No	If so, ple	ease indicate	below:
	Atlantic Beach							
	St. Augustine							
List thr	ee references of firms re	eceiving similar servi	ce to that req	uested in t	his bid (co	mparable facili	y size):	
1)	Firm:	FDOT - District 2				Phone	386-961-	-7030
	Contact Person:	Doug Mosle	y P.E.					
2)	Firm	AE Engineering				Phone	904-614	-4800
	Contact Person:	Cory Nichols	P.E.			····		
3)	Firm:	Eisman Russos				Phone	904-733-	-1478
	Contact Person:	Bruce Boyle	s P.E.					
Are you	ur employees screened l	by: (indicate)						
1)	Polygraph							
2)	General Interview	, X						
3)	Background Investiga							
4)	Police Record Check	X Testing. Pre Empl	ovment Phys	eical				
by eith	ny leases, contracts or a ler party: Yes	agreements for servic No <u>X</u> . If the ar	es held by your swer is yes,	our firm ev state the	location	and circumstan	ces on an "	the end of the term 'attachment" to this
What c	onstitutes your normal	business days and wo	orking hours:	Varies -	24 hr/day	y ( project dep	endent)	
Describ With safe	pe in the spaces provide ty being our first priority, w	ed, your firm's operati we will pave the project	onal plan for per the plans &	providing specs. We	the servic will have p	es under this ag roject manageme	reement: nt and field pe	rsonnel on the
	vho have successfully co	mpleted many projects	for other mur	icipalities	and FDOT	District 2. We wil	l be pleased	to provide
	il details upon request						7	
	dersigned swears to the 7/31/2019		f all statemen ORIZED SIG			nined herein.		
				70	Same of the same o	W. Taylor -V	ice Preside	ent

#### **RESPONSIBLE AGENT FORM**

The Contractor shall designate a responsible agent and alternate as necessary, for all dealings, communications, or notices or contracts between the County and the contractor by completing and returning this Responsible Agent Form. Any notice or communication to or from the responsible agent shall be deemed to be a communication to the contractor.

Joseph Donaruma RESPONSIBLE AGENT: 11482 Columbia Park Drive W, Ste 3 ADDRESS: Jacksonville, FL 32258 904-288-6300 PHONE NO.: 904-288-6301 FAX NO.: Joseph.Donaruma@preferredmaterials.com EMAIL ADDRESS: John W. Taylor ALTERNATE RESPONSIBLE AGENT: 11482 Columbia Park Drive W, Ste 3, Jacksonville, FL 32258 **ADDRESS** 904-288-6300 PHONE NO. 904-288-6301 FAX NO. John.Taylor@Preferredmaterials.com

SIGNED:

EMAIL ADDRESS:

#### FORM OF BID BOND

## STATE OF FLORIDA COUNTY OF ALACHUA

COUNTY OF ALACHU	A					
KNOW ALL MEN BY T	HESE PRESENTS:					Federa
That we,	Preferred Mat	erials, Inc.	*	_ (hereinafter called	Bidder), a	nd <sup>insuran</sup> Compar
as Surety, are bound t	o the Board of Count	ty Commissioners of A	lachua County, Flo	rida, as Obligee here	inafter call	ed
COUNTY, in the amou	nt of <u>Amount Bid</u>	Dollars (\$ <u>5%</u>	), for the paym	ent of whereof BIDDE	R and Sure	ety
bind themselves, their h	neirs, executors, admi	nistrators, successors,	and assigns jointly	and severally.		
WHEREAS, Bi	dder contemplates sul	bmitting or has submitte	ed, as a bid to the C	OUNTY for furnishing	g certain	
materials and labor in o	onnection with the co	nstruction of: Bid 19-9	07: NW 16th Ave N	Milling and Resurfac	ing & NW	
16th Ave @ NW 2nd S	treet Signal - Projec	t No. 917-7902, includ	ing all incidental an	d necessary work the	reto covere	ıd
by these specifications						
WHEREAS, it	was a condition prec	edent to the submission	n of said bid that a	certified check or bi	d bond in t	the
amount of five percent	(5%) of the base bid	be submitted with said	l bid as a guarante	e that the bidder wou	ld, if award	led
the contract, enter int	o a written contract	with the COUNTY fo	r the performance	of said contract, w	ithin ten (	10)

#### THE CONDITION OF THIS BOND IS, if:

1. The bid of the Bidder is accepted by the COUNTY and within ten (10) consecutive calendar days after written notice of such acceptance, the Bidder shall enter into a written contract with the COUNTY and furnish a contract surety bond in an amount equal to one hundred percent (100%) of the base bid, satisfactory to the COUNTY (if required in the detailed specifications), then

#### THIS BOND IS VOID; OTHERWISE, IT REMAINS IN FULL FORCE AND EFFECT, AND

consecutive calendar days after written notice having been given of the award of the contract.

The sum herein stated shall be due and payable to the COUNTY, and the Surety herein agrees to pay said sum immediately upon demand of the COUNTY in good and lawful money of the United States of America, as liquidated damages for failure thereof of said Bidder.

Signed and sealed this <u>31st</u> day of _	July, 20 <u>19</u> .
WITNESSES:  Secretary-Sylvia/J Rocek	Preferred Materials, Inc. (Name of Corporation)  By (Signature and Title) Vice President
(CORPORATE SEAL)	John W. Taylor - Vice President (Type Name and Title Signed Above)
IN THE PRESENCE OF:  Lisa Hall, (Agent and Attorney-in-Fact)  Witness	INSURANCE COMPANY: Federal Insurance Company  By Tina Davis, Attorney-in-Fact
15 W. South Temple, Suite 700 Salt Lake City, UT 84101 (Street)	Address 15 W. South Temple, Suite 700
	Salt Lake City, UT 84101 (City/State/Zip Code)

Telephone No. 801-533-3624

State of County of	UT Salt Lake	ss:	
On therein, duly cor	July 31, 2 nmissioned and s	2019 sworn, personally ap	, before me, a Notary Public in and for said County and State, residing peared
			Tina Davis
the corporation d	escribed in and t ent in behalf of t	he said corporation,	hin and foregoing instrument, and known to me to be the person who executed and he duly acknowledged to me that such corporation executed the same.
IN WITNESS W	'HEREOF, I hav	e hereunto set my hai	nd and affixed my official seal, the day and year stated in this certificate above.
My Commission	Expires	3/13/2023	Lisa Hall Notary Public
			LISA HALL Notary Public State of Utah My Commission Expires March 13, 2023 Commission Number 704231



#### Power of Attorney

#### Federal Insurance Company | Vigilant Insurance Company | Pacific Indemnity Company

Know All by These Presents, That FEDERAL INSURANCE COMPANY, an Indiana corporation, VIGILANT INSURANCE COMPANY, a New York corporation, and PACIFIC INDEMNITY COMPANY, a Wisconsin corporation, do each hereby constitute and appoint Tina Davis, Lisa Hall, Linda Lee Nipper and Lindsey Plattner of Salt Lake City, Utah-----

each as their true and lawful Attorney-in-Fact to execute under such designation in their names and to affix their corporate seals to and deliver for and on their behalf as surety thereon or otherwise, bonds and undertakings and other writings obligatory in the nature thereof (other than bail bonds) given or executed in the course of business, and any instruments amending or altering the same, and consents to the modification or alteration of any instrument referred to in said bonds or obligations.

In Witness Whereof, said FEDERAL INSURANCE COMPANY, VIGILANT INSURANCE COMPANY, and PACIFIC INDEMNITY COMPANY have each executed and attested these presents and affixed their corporate seals on this 20<sup>TH</sup> day of August, 2018.

Dawn M. Chlanes

Dawn M. Chloros, Assistant Secretary

Stephen M. Haney, Vice President









STATE OF NEW JERSEY

County of Hunterdon

On this 20th day of August, 2018, before me, a Notary Public of New Jersey, personally came Dawn M. Chloros, to me known to be Assistant Secretary of FEDERAL INSURANCE COMPANY, VIGILANT INSURANCE COMPANY, and PACIFIC INDEMNITY COMPANY, the companies which executed the foregoing Power of Attorney, and the said Dawn M. Chloros, being by me duly sworn, did depose and say that she is Assistant Secretary of FEDERAL INSURANCE COMPANY, VIGILANT INSURANCE COMPANY, and PACIFIC INDEMNITY COMPANY and knows the corporate seals thereof, that the seals affixed to the foregoing Power of Attorney are such corporate seals and were thereto affixed by authority of said Companies; and that she signed said Power of Attorney as Assistant Secretary of said Companies by like authority; and that she is acquainted with Stephen M. Haney, and knows him to be Vice President of said Companies; and that the signature of Stephen M. Haney, subscribed to said Power of Attorney is in the genuine handwriting of Stephen M. Haney, and was thereto subscribed by authority of said Companies and in deponent's presence.

Notarial Seal



KATHERINE J. ADELAAR NOTARY PUBLIC OF NEW JERSEY
No. 2316865
Commission Expires July 16, 2019

Hutuflade NHAY PUBLIC

#### CERTIFICATION

Resolutions adopted by the Boards of Directors of FEDERAL INSURANCE COMPANY, VIGILANT INSURANCE COMPANY, and PACIFIC INDEMNITY COMPANY on August 30, 2016:

"RESOLVED, that the following authorizations relate to the execution, for and on behalf of the Company, of bonds, undertakings, recognizances, contracts and other written commitments of the Company entered into in the ordinary course of business (each a "Written Commitment").

- Each of the Chairman, the President and the Vice Presidents of the Company is hereby authorized to execute any Written Commitment for and on behalf of the Company, under the seal of the Company or otherwise.
- (2)Each duly appointed attorney-in-fact of the Company is hereby authorized to execute any Written Commitment for and on behalf of the Company, under the seal of the Company or otherwise, to the extent that such action is authorized by the grant of powers provided for in such person's written appointment as such attorney in fact.
- Each of the Chairman, the President and the Vice Presidents of the Company is hereby authorized, for and on behalf of the Company, to appoint in writing any person the attorneyin fact of the Company with full power and authority to execute, for and on behalf of the Company, under the seal of the Company or otherwise, such Written Commitments of the Company as may be specified in such written appointment, which specification may be by general type or class of Written Commitments or by specification of one or more particular
- Each of the Chairman, the President and the Vice Presidents of the Company is hereby authorized, for and on behalf of the Company, to delegate in writing to any other officer of the (1) Company the authority to execute, for and on behalf of the Company, under the Company's seal or otherwise, such Written Commitments of the Company as are specified in such written delegation, which specification may be by general type or class of Written Commitments or by specification of one or more particular Written Commitments.
- The signature of any officer or other person executing any Written Commitment or appointment or delegation pursuant to this Resolution, and the seal of the Company, may be affixed by facsimile on such Written Commitment or written appointment or delegation.

FURTHER RESOLVED, that the foregoing Resolution shall not be deemed to be an exclusive statement of the powers and authority of officers, employees and other persons to act for and on behalf of the Company, and such Resolution shall not limit or otherwise affect the exercise of any such power or authority otherwise validly granted or vested."

I, Dawn M. Chloros, Assistant Secretary of FEDERAL INSURANCE COMPANY, VIGILANT INSURANCE COMPANY, and PACIFIC INDEMNITY COMPANY (the "Companies") do hereby certify that

- the foregoing Resolutions adopted by the Board of Directors of the Companies are true, correct and in full force and effect,
- the foregoing Power of Attorney is true, correct and in full force and effect.

Given under my hand and seals of said Companies at Whitehouse Station, NJ, this July 31, 2019



Down M. Chlores

Dawn M. Chloros, Assistant Secretary

IN THE EVENT YOU WISH TO VERIFY THE AUTHENTICITY OF THIS BOND OR NOTIFY US OF ANY OTHER MATTER, PLEASE CONTACT US AT: Telephone (908) 903-3493 Fax (908) 903-3656



### Florida Department of Transportation

RON DESANTIS GOVERNOR 605 Suwannee Street Tallahassee, FL 32399-0450 KEVIN J. THIBAULT, P.E. SECRETARY

June 7, 2019

PREFERRED MATERIALS INC. 11482 COLUMBIA PARK DR W JACKSONVILLE, FLORIDA 32258

RE: CERTIFICATE OF QUALIFICATION

Dear Sir/Madam:

The Department of Transportation has qualified your company for the type of work indicated below. Unless your company is notified otherwise, this Certificate of Qualification will expire 6/30/2020. However, the new application is due 4/30/2020.

In accordance with S.337.14 (1) F.S. your next application <u>must be</u> filed within (4) months of the ending date of the applicant's audited annual financial statements.

If your company's maximum capacity has been revised, you can access it by logging into the Contractor Prequalification Application System via the following link: HTTPS://fdotwpl.dot.state.fl.us/ContractorPreQualification/

Once logged in, select "View" for the most recently approved application, and then click the "Manage" and "Application Summary" tabs.

#### FDOT APPROVED WORK CLASSES:

DEBRIS REMOVAL (EMERGENCY), DRAINAGE, FENCING, FLEXIBLE PAVING, GRADING, GRASSING, SEEDING AND SODDING, GUARDRAIL, HOT PLANT-MIXED BITUM. COURSES, INTERMEDIATE BRIDGES, MINOR BRIDGES, PORTLAND CEMENT CONCRETE ROADWAY PAVING, ROADWAY SIGNING, SIDEWALK, MILLING, REHABILITATION OF CONCRETE PAVEMENT, CONCRETE SLAB REPLACEMENT, CURB AND GUTTER, DRIVEWAYS, REINFORECED EARTH WALLS, SLIP FORM BARRIER WALL, TRAFFIC SEPARATORS, ATTENUATORS, UNDERGROUND UTILITIES (WATER & SEWER), FORCE MAIN, LIFT STATION, LEACHATE AND GAS PIPING.

You may apply for a Revised Certificate of Qualification at any time prior to the expiration date of this certificate according to Section 14-22.0041(3), Florida Administrative Code (F.A.C.), by accessing your most recently approved application as shown above and choosing "Update" instead of "View." If certification in additional classes of work is desired, documentation is needed to show that your company has done such work with your own forces and equipment or that experience was gained with another contractor and that you have the necessary equipment for each additional class of work requested.

All prequalified contractors are required by Section 14-22.006(3), F.A.C., to certify their work underway monthly in order to adjust maximum bidding capacity to available bidding capacity. You can find the link to this report at the website shown above.

Sincerely,

Alan Autry, Manager

Contracts Administration Office

AA:cj

# ACTION BY WRITTEN CONSENT IN LIEU OF AN ANNUAL MEETING OF THE BOARD OF DIRECTORS OF PREFERRED MATERIALS, INC.

The undersigned, being all of the members of the Board of Directors of Preferred Materials, Inc., a Georgia corporation (the "*Corporation*"), do hereby, pursuant to applicable Georgia statute, give this written consent (a) to the dispensation of an annual meeting of the Board of Directors of the Corporation and (b) to the taking of the following actions, such actions to have the same force and effect had a meeting been duly called and held:

#### I. ELECTION OF OFFICERS

**RESOLVED**, that effective October 12, 2018 all previous elections of officers are terminated, and the following persons be, and hereby are, elected to serve as officers of the Corporation (each individually, an "Officer" and collectively, the "Officers") in the capacities set forth opposite their respective names until such time as their successors shall be elected and qualified:

Robert F. Duke	President/Chief Executive Officer
John Rothering	Secretary & Treasurer
Brian Morton	Vice President & Assistant Secretary
Darryl W. Fales	Vice President & Assistant Secretary
Gary Yelvington	Vice President & Assistant Secretary
John R. Hooper	Vice President & Assistant Secretary
John W. Taylor	Vice President & Assistant Secretary
Joseph Apple	Vice President & Assistant Secretary
Kenneth C. Laing	Vice President & Assistant Secretary
Lothar Alomia	Vice President & Assistant Secretary
Mark S. Marine	Vice President & Assistant Secretary
Michael Iapaluccio	Vice President & Assistant Secretary
Nicholas B. Wear	Vice President & Assistant Secretary
Robert B. Royal	Vice President & Assistant Secretary
Robert Spillman	Vice President & Assistant Secretary
Travis Raitt	Vice President & Assistant Secretary
Miguel Alvarez	Vice President & Assistant Secretary
William B. Miller	Admin. Vice President and Assistant Secretary

**FURTHER RESOLVED**, that the Officers be, and each of them hereby is, authorized to execute and deliver agreements, contracts, documents, certificates, and other instruments, under the seal of the Corporation if required, for the purpose of conducting the Corporation's business, including without limitation, selling products and securing construction work, and to take such other action, as they may deem necessary, advisable, convenient, or appropriate to carry out and fully perform duties incident to the office or offices so appointed, and such other duties as may be prescribed by the Board of Directors from time to time;

**FURTHER RESOLVED,** that the following persons are hereby designated Officers solely for the purpose of attesting signatures of other Officers signing on behalf of the Corporation, and for executing and attesting various corporate documents, tax returns, affidavits, and other instruments as may be necessary from time to time:

Angelica Espinal Assistant Secretary & Assistant Treasurer **Bethany Casimir** Assistant Secretary & Assistant Treasurer Carmen Sutton Assistant Secretary & Assistant Treasurer Elizabeth Stafford Assistant Secretary & Assistant Treasurer Jacob Duckett Assistant Secretary & Assistant Treasurer Sara Brawner Assistant Secretary & Assistant Treasurer Tracey Kinney Assistant Secretary & Assistant Treasurer Vashti Moore Assistant Secretary & Assistant Treasurer Amber Vickrey Assistant Secretary Ashley Turner Assistant Secretary Carmen Hess Assistant Secretary Cheryl Kitzis Assistant Secretary David C. Lewis Assistant Secretary David M. Toolan **Assistant Secretary** Debbie Rios Assistant Secretary Gary P. Hickman **Assistant Secretary** John Risoen **Assistant Secretary** Marizabed Perez **Assistant Secretary** Michael F. Deaton **Assistant Secretary** Michael G. O'Driscoll **Assistant Secretary** Pamela M. Sahr **Assistant Secretary** Rick Jarvis Assistant Secretary Steven Wilson **Assistant Secretary** Sylvia Rocek **Assistant Secretary** Tamara A. Albright Assistant Secretary William P. Jones **Assistant Secretary** 

#### II. APPOINTMENT OF AUTHORIZED EMPLOYEES

**RESOLVED**, that effective October 12, 2018 all previous appointments of authorized employees are terminated, and that the following persons be and each of them hereby is appointed to serve as an authorized employee of the Corporation, which persons shall be authorized to execute and deliver such agreements, contracts, documents, certificates and other instruments, under the seal of the Corporation if required, for the purpose of conducting the Corporation's business including, without limitation, selling products and securing construction work:

Angelia McElroy Bobbie Reilly Carl J. Thompson

Jon Stebick Kenneth Dalton Kevin Williams Chad Schindette
Charles Blinne
David Cerniglia
G. Michael Johnson
Jacob Unger
Jason Johns
Jeffrey R. Andrews
Jennifer K. Edwards
Jeremy Minnillo
John Rauschenbach
Joe Liakos
Joseph F. Donaruma
Joshua Martin

Lawrence Trace Martell
Michael Vickrey
Patrick Read
Rick Shuman
Shane Taylor
Shirley Perry
Sylvia Battiato
Ted Kaler
Tony DiPietro
W. Charles Molloy
William Evans
William Sullivan

FURTHER RESOLVED, that the President of the Corporation may, from time to time, without further action by the Board of Directors, appoint other persons to serve as authorized employees, or remove any individuals from this capacity, and to direct those appointed to take such action, as he may deem necessary, advisable, convenient or appropriate to carry out and fully perform the duties incident to the office of President.

#### III. AUTHORIZATION OF TRADE NAMES

**RESOLVED**, that the activities and operations of the Corporation may be carried on in any of the following manners or styles as may from time-to-time be deemed necessary or appropriate:

#### Conrad Yelvington Distributors Prestige Gunite

**FURTHER RESOLVED**, that the President of the Corporation may, from time to time, without further action by the Board of Directors, authorize the use of additional trade names, and to deem unauthorized any trade name previously authorized, as he may deem necessary, advisable, convenient or appropriate.

#### IV. MISCELLANEOUS

**RESOLVED**, that all actions previously taken by any Officer of the Corporation appointed hereunder in his/her capacity as such Officer be, and each of them hereby is, adopted, ratified, confirmed and approved in all respects as the authorized acts and deeds of the Corporation;

**FURTHER RESOLVED**, that each undersigned agrees that electronic signatures, whether digital or encrypted, of the Board of Directors are intended to authenticate this consent and to have the same force and effect as manual signatures. As used in the previous sentence, the term "electronic signatures" means any electronic sound, symbol or process attached to or logically associated with this consent and executed and adopted by a member of the Board of

Directors with the intent to sign such consent, including, but not limited to, e-mail electronic signatures executed through Adobe® eSign Services; and

**FURTHER RESOLVED**, that this Consent, following execution by all of the members of the Board of Directors, be filed in appropriate order in the minute book of the Corporation.

Signature: Robert F. Duke
Robert F. Duke (Oct 19, 2018)

Email: rob.duke@na.crh.com

Signature: John J. Keating
John J. Keating (Oct 22, 2018)

Email: john.keating@na.crh.com



SEALED BID
19-907: NW 16th Ave Milling and
Resurfacing & NW 16th Ave @ NW
2nd Street Signal —
Project No. 917-7902

Alachua Co Procurement 12 SE 1<sup>st</sup> Street 3<sup>rd</sup> Floor Gainesville, FL 32601

JU STIDMITT